Convert the units of weight. worksheet 6

a.41b = 0z h.41b = 0z

i. 32 0z = Ib
b.91b = 0oz

j» 7 1b = oz
c.101b = 0z

k.51b = 0oz
d.81Ib = 0oz

I.31b = 0z
e.61b = 0oz

m. 96 oz = Ib
f. 80 0z = Ib

n.31b = 0z
g.21b = oz

0.61b = 0z
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Convert the units of weight. worksheet 6 answers

a.41b = 64 oz

b.91b = 144 oz

c.10Ib =160 oz

d.81b =128 oz

e.61b =960z

f.800z=_51b

g.21b =320z
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h.41b = 64 oz

i.320z=_21b

j.71b = 112 oz

k.51b =80 oz

I.31b =48 oz

m.96o0oz= 61I1b

n.31b =48 oz

0.6 1b =96 oz



